2 x P2051

2 x P2105

2xP2118

P426110

PART NUMBER DESCRIPTION Qry.
P2051 M8x1.25 - 16 stainless hex bolt 2
P2105 Stainless Washer 2
P2118 M8 Cage Nut 2

P426110 U-type bridge 1
P5020 Valve Assembly for Collective Foot 1

DESIGN

MANUFACTURING

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL +

ANGULAR: MACH +

BEND *

TWO PLACE DECIMAL  *
THREE PLACE DECIMAL +

INTERPRET GEOMETRIC
TOLERANCING PER:

MATERIAL

Assembly

SOLE PROPERTY OF PSD LLC. ANY REPRODUCTION IN PART | FINISH
OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF PSD

LLC IS PROHIBITED.

2

DO NOT SCALE DRAWING

DRAWN
CHECKED
MFG CHK

File Location:

COMMENTS:

Request for Change
Name Date

Change Requested

NAME DATE

TITLE:
WH | 8/3/2021

Collective Foot Valve and
Bridge from P5020

SIZE DWG. NO. REV
B 12CF 000

SCALE: 1:5 WEIGHT: SHEET T OF 1

1


https://intersancomponents.com/products/p2051-stainless-steel-bolt?_pos=1&_sid=f62a086be&_ss=r
https://intersancomponents.com/products/p2051-stainless-steel-bolt?_pos=1&_sid=f62a086be&_ss=r
https://intersancomponents.com/products/p2105-m8-flat-washer-zinc-used-on-aquadesign-intersan-wash-fountains?_pos=1&_sid=d6a7baaed&_ss=r
https://intersancomponents.com/products/p2105-m8-flat-washer-zinc-used-on-aquadesign-intersan-wash-fountains?_pos=1&_sid=d6a7baaed&_ss=r
https://intersancomponents.com/products/p2105-m8-flat-washer-zinc-used-on-aquadesign-intersan-wash-fountains?_pos=1&_sid=d6a7baaed&_ss=r
https://intersancomponents.com/products/p2105-m8-flat-washer-zinc-used-on-aquadesign-intersan-wash-fountains?_pos=1&_sid=d6a7baaed&_ss=r
https://intersancomponents.com/products/p426110-bridge-for-sanispray-washfountains?_pos=1&_sid=14c7aee47&_ss=r
https://intersancomponents.com/products/p426110-bridge-for-sanispray-washfountains?_pos=1&_sid=14c7aee47&_ss=r
https://intersancomponents.com/products/direct-activated-metering-valv?_pos=1&_sid=f22ad128e&_ss=r
https://intersancomponents.com/products/direct-activated-metering-valv?_pos=1&_sid=f22ad128e&_ss=r

	Sheet1
	Drawing View1




